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Household wiring

Figure 26.26 at the right shows whEitis
safer to use a three-prong plug for- /7
electrical appliances.

(a) Two-prong plug




Figure 26.25
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gx.3 (cont) Charging a
Capacitor
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gx.3 (Initial Condition)
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® T4 Junction rule: RN 2 B IR ')6‘%‘
WRIRLF
(Alirchhoff’ s junction/cunrrent rule)
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& — LR, +1,R, =0 left loop

—1,R, —1,R, —&, =0right loop

& —1L,R, —1,R, —&, =0big loop




Exg \What are the §

currentst

L, =1, +1,
—LR & -1LR +6,+LR, =0

+1L,R, —&, +1,R +6, +1,R, =0
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[ 6x1 — 2x7 + 2x3 + 4x4 = 16
12x1 — 8x7 + 6x3 + 10x3 = 26
3x1 — 13x2 + 9x3 + 3x4 = — 19
6x; + 4x2 + x3 — 18x4 = =34
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Forward Elimination and Back substitution
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https://www.youtube.com/watch?v=1qFpHgWIDQc



http://wps.aw.com/aw_young_freedman_13_mir/173/44358/11355704.cw/index.html
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https://www.youtube.com/watch?v=Kw6ZG860mbI

The Cynivalent circnit
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The surrounding water hag resistance Ky (5)
The emf Eame and resistatice Foq, of each
row. [¢) The emf between points @ and b is
T . Betwreen points b and ¢ are 140 parallel
resistances K, .. (d) The sinplified circuit,
with K,y replacing the parallel combination.




T he current

Orow = 00008, = 790V 1 50\ s
R0 = 5000r,, = 12500
1 140 1 1

— =Y = -140— > R, =8.930
R, SR R

eq J row RWZS’UUQ
Srow — IRy —iR,; =0 —>1=0.93A

i =i/140=6.6x10"A
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¢x.é A practical example }EW 22
Quebec —Montreal f/ 1\%2

| = (7.35x10°V)(500A) = 368M W
P =1%R = (1000A)?

av,1l

x (0.22Q) / m x1000km) = 220M W

P..=1 ‘R = (500A)°

« (0.22Q2/ m x1000km) = 55.0M W
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